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A A Ae] SR T A ol AYU

D 0.812 @ 67.003 @ 90.241
@0.008 ® 3.267
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(1)1-02  (2)05-0.2
@mos @03 @ 1)08@207 @ (1)07(2)08
@ (1)13(203 ® (1) 1.3(2)0.7

(1)1-02=10-02=08
(2) 05-02=03




029L+60mL = _|L

B L

>
[> Heh: 0.35L

B

1L = 1000 mL
0.29L + 60 mL

= 0.29L + 0.06 L
=0.35L
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15.333 — 10.666 — 2.888

=[ J-2888=[ ]
@ 5.667, 2.779 @ 5.667, 2.778 (3)4.667, 1.779
@ 4.667, 1.778 ® 4.677,1.779

15.333 — 10.666 — 2.888 = 4.667 — 2.888 = 1.779




(1) 47-0.27 (2) 6.05—0.96

@) 143 (2) 5.09 @ (1) 433 (2) 6.09
® (1) 4.43 (2) 5.49 @ (1) 4.33 (2) 5.09
® (1) 4.43 (2) 4.49

(1) 4.7-0.27 = 443
(2) 6.05 - 0.96 = 5.09




g2 Ht 2.2kg T

7. dE9 BRAE 38.15kg 0], ol BRAE
kg 917 F5HA £,

g delet SE0l9 BRAY e F

| = kg

> HE ! Tdlkg

B :
=0l FF7A:

38.15 — 2.2 = 35.95(kg)

gt Folo] BFA &

38.15 + 35.95 = 74.1(kg)




8.

g2 (e w9 JehAL,
5196 cm = ( km)

» = km

> el 0.05196 km

lcm = 0.01m, 1cm = 0.00001 km
5196 cm = (5196 x 0.00001) km = 0.05196 km




(2)6m75cm = Dm

@ (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @(1) 0.28 (2) 6.75
® (1) 2.8 (2) 0.675

B

(1) 1em = 0.01m

28 cm = 0.28 m

(2) 6m75cm = 6m + 75 cm
=6m+0.75m = 6.75m




10. 57 7HE 6,4,2.58 @ WA Agote] 25 Al el 2 WE 1,
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> E:

> HEH: 4.086

7

Z 25 Al A = 6.542
7H 2

&t A Al A = 2.456
6.542 — 2.456 = 4.086




